# сомразя Brooklyn Luxury Report

June 09 - 15, 2025, Residential Contracts \$2M+ Photo: <u>51 Jay Street, Unit PHE</u>

The second second

The Brooklyn luxury real estate market, defined as all properties priced \$2M and above, saw 28 contracts signed this week, made up of 6 condos, 2 co-ops, and 20 houses. The previous week saw 23 deals. For more information or data, please reach out to a Compass agent.



#### Brooklyn Luxury Report

Contracts \$2M+, June 09 - 15, 2025

	ospect Plac t Heights	Contract Signed						
Type DOM	Townhouse 32	Price Initial	\$6,500,000 \$6,500,000	Sq. Ft. PPSF	3,788 \$1,716	Beds <b>4</b> Baths <b>3.5</b>		
<b>45 Paı</b> Park Slo	rk Place					Contract Signed		
Type DOM	Townhouse 13	Price Initial	\$6,500,000 \$6,500,000	Sq. Ft. PPSF	3,628 \$1,792	Beds <b>4</b> Baths <b>3</b>		
<b>96 Sou</b> Williams	uth 2nd St sburg					Contract Signed		
Type DOM	Townhouse 85	Price Initial	\$5,775,000 \$5,775,000	Sq. Ft. PPSF	3,800 \$1,520	Beds <b>4</b> Baths <b>3</b>		
<b>511 8tł</b> Park Slo	-	Contract Signed						
Type DOM	Townhouse 45	Price Initial	\$5,000,000 \$5,000,000	Sq. Ft. PPSF	-	Beds 12 Baths 4		
	<b>Dcean Ave</b> tan Beach					Contract Signed		
Type DOM	Townhouse 206	Price Initial	\$3,685,000 \$3,888,999	Sq. Ft. PPSF	7,000 \$527	Beds <b>8</b> Baths <b>5</b>		
<b>431 Greene Ave</b> Bedford Stuyvesant						Contract Signed		
Type DOM	Townhouse 28	Price Initial	\$3,650,000 \$3,650,000	Sq. Ft. PPSF	3,360 \$1,087	Beds <b>7</b> Baths <b>4.5</b>		

Compass is a licensed real estate broker and abides by Equal Housing Opportunity laws. All material presented herein is intended for informational purposes only. Information is compiled from sources deemed reliable but is subject to errors, omissions, changes in price, condition, sale, or withdrawal without notice. No statement is made as to the accuracy of any description. All measurements and square footages are approximate. This is not intended to solicity property already listed. Nothing herein shall be construed as legal, accounting or other profesional advice outside the realm of real estate brokerage.

#### Brooklyn Luxury Report

Contracts \$2M+, June 09 - 15, 2025

		ent Ave	Contract Signed	Contract Signed				
	Williams <sub>Type</sub> DOM	sburg Townhouse 102	Price Initial	\$3,550,000 \$3,550,000	Sq. Ft. PPSF	3,200 \$1,110	Beds <b>5</b> Baths <b>4.5</b>	
		th St, Unit 3	3				Contract Signed	
	Park Slo <sub>Type</sub> DOM	Condo 29	Price Initial	\$3,500,000 \$3,500,000	Sq. Ft. PPSF	2,176 \$1,609	Beds <b>3</b> Baths <b>2.5</b>	
	<b>28 He</b> Williams	rbert St, Ur sbura	nit PHB				Contract Signed	
	Type DOM	Condo -	Price Initial	\$3,300,000 \$3,300,000	Sq. Ft. PPSF	1,610 \$2,050	Beds <b>3</b> Baths <b>2.5</b>	
		ancock St					Contract Signed	
	Type DOM	Stuyvesant Townhouse -	Price Initial	\$2,995,000 \$2,995,000	Sq. Ft. PPSF	1,054 \$2,842	Beds 5 Baths 6	
	<b>473 10</b> Park Slo						Contract Signed	
	Type DOM	Townhouse -	Price Initial	\$2,950,000 \$2,950,000	Sq. Ft. PPSF	2,000 \$1,475	Beds <b>3</b> Baths <b>2.5</b>	
J.F. C.F.		<b>alsey St</b> Stuyvesant	Contract Signed					
	Type DOM	Townhouse 131	Price Initial	\$2,795,000 \$2,795,000	Sq. Ft. PPSF	3,300 \$847	Beds 5 Baths 4	

Compass is a licensed real estate broker and abides by Equal Housing Opportunity laws. All material presented herein is intended for informational purposes only. Information is compiled from sources deemed reliable but is subject to errors, omissions, changes in price, condition, sale, or withdrawal without notice. No statement is made as to the accuracy of any description. All measurements and square footages are approximate. This is not intended to solicity property already listed. Nothing herein shall be construed as legal, accounting or other profesional advice outside the realm of real estate brokerage.

#### Brooklyn Luxury Report

Contracts \$2M+, June 09 - 15, 2025

	E/	
* 00		
		TH

COMPASS

<b>35 Pı</b> Park S	r <b>ospect Park</b> lope	west,	Unit 6A			Contract Sign
Туре	Соор	Price	\$2,750,000	Sq. Ft.	-	Beds 3
DOM	92	Initial	\$2,750,000	PPSF	-	Baths <b>3</b>
8 Soi	uth 4th St, L	Jnit 12A				Contract Sign
Williar	nsburg					
Туре	Condo	Price	\$2,725,000	Sq. Ft.	1,319	Beds 2
DOM	154	Initial	\$2,705,000	PPSF	\$2,066	Baths 2.5
	Pacific St Heights					Contract Sign
Туре	Townhouse	Price	\$2,699,000	Sq. Ft.	3,762	Beds <b>6</b>
DOM	22	Initial	\$2,699,000	PPSF	\$718	Baths <b>4</b>
<b>488</b> <sup>-</sup> Park S	7th Ave					Contract Sign
Туре	Townhouse	Price	\$2,695,000	Sq. Ft.	2,422	Beds 6
DOM	83	Initial	\$2,850,000	PPSF	\$1,113	Baths <b>4</b>
432	Fenimore St					Contract Sign
Prospe	ect Lefferts Garc	lens				
Туре	Townhouse	Price	\$2,600,000	Sq. Ft.	3,134	Beds 4
DOM	53	Initial	\$2,600,000	PPSF	\$830	Baths <b>3</b>
465A	. Halsey st					Contract Sign
	<b>Halsey st</b> rd Stuyvesant					Contract Sign
	•	Price	\$2,599,000	Sq. Ft.	3,136	Contract Sign

Compass is a licensed real estate broker and abides by Equal Housing Opportunity laws. All material presented herein is intended for informational purposes only. Information is compiled from sources deemed reliable but is subject to errors, omissions, changes in price, condition, sale, or withdrawal without notice. No statement is made as to the accuracy of any description. All measurements and square footages are approximate. This is not intended to solicity property already listed. Nothing herein shall be construed as legal, accounting or other profesional advice outside the realm of real estate brokerage.

#### Brooklyn Luxury Report

Contracts \$2M+, June 09 - 15, 2025

	<b>ast 4th St</b> Parkway	Contract Signed					
Туре	Townhouse	Price	\$2,550,000	Sq. Ft.	1,472	Beds <b>3</b>	
DOM	177	Initial	\$2,650,000	PPSF	\$1,732	Baths <b>4</b>	
225 E	astern Park	way, Ui	nit 5A			Contract Signed	
	Heights	•					
Туре	Condo	Price	\$2,425,000	Sq. Ft.	2,043	Beds <b>3</b>	
DOM	14	Initial	\$2,425,000	PPSF	\$1,187	Baths 2	
843 F	utnam Ave					Contract Signed	
	d Stuyvesant						
Туре	Townhouse	Price	\$2,400,000	Sq. Ft.	2,600	Beds 5	
DOM	68	Initial	\$2,400,000	PPSF	\$924	Baths <b>3.5</b>	
320 1	5th St					Contract Signed	
Park Sl	оре						
Туре	Townhouse	Price	\$2,350,000	Sq. Ft.	976	Beds <b>3</b>	
DOM	86	Initial	\$2,495,000	PPSF	\$2,408	Baths 2	
232 E	ckford St, L	Jnit TH1				Contract Signed	
Greenp	oint						
Туре	Condo	Price	\$2,295,000	Sq. Ft.	2,038	Beds 2	
DOM	-	Initial	\$2,295,000	PPSF	\$1,127	Baths 2	
	<b>exington Av</b> d Stuyvesant	/e				Contract Signed	
Туре	Townhouse	Price	\$2,295,000	Sq. Ft.	3,520	Beds <b>7</b>	
DOM	45	Initial	\$2,295,000	PPSF	\$652	Baths 5	

Compass is a licensed real estate broker and abides by Equal Housing Opportunity laws. All material presented herein is intended for informational purposes only. Information is compiled from sources deemed reliable but is subject to errors, omissions, changes in price, condition, sale, or withdrawal without notice. No statement is made as to the accuracy of any description. All measurements and square footages are approximate. This is not intended to solicity property already listed. Nothing herein shall be construed as legal, accounting or other profesional advice outside the realm of real estate brokerage.

#### Brooklyn Luxury Report

Contracts \$2M+, June 09 - 15, 2025

· ×	
	ALL ALL
RE Y	
AT REAL	
a for the second second	6-10

COMPASS

T the	<b>155 Lafayette Ave, Unit 1AB</b> Fort Greene								Contract Signed		
	Туре	Соор	Price	\$2,275,000	Sq. Ft.	-	Bed	s <b>3</b>			
	DOM	-	Initial	\$2,275,000	PPSF	-	Batl	ns <b>2</b>			
		<b>'anderbilt A</b> ct Heights	ve, Uni	t 1101				Contract	Signed		
	Туре	Condo	Price	\$2,170,000	Sq. Ft.	1,308	Bed	s <b>2</b>			
Z	DOM	75	Initial	\$2,250,000	PPSF	\$1,660	Batl				
/	157 \N	Varren St						Contract	Signad		
	Boerum							Contract	Signed		
-	Туре	Townhouse	Price	\$2,095,000	Sq. Ft.	2,038	Bed	s <b>3</b>			
WILLIAN S	DOM	36	Initial	\$2,300,000	PPSF	\$1,028	Batl	ns <b>2.5</b>			
	<b>1841 E</b> Madiso	<b>ast 21st St</b>						Contract	Signed		
	Туре	Townhouse	Price	\$2,059,000	Sq. Ft.	4,000	Bed	s 5			

\$515

PPSF

Compass is a licensed real estate broker and abides by Equal Housing Opportunity laws. All material presented herein is intended for informational purposes only. Information is compiled from sources deemed reliable but is subject to errors, omissions, changes in price, condition, sale, or withdrawal without notice. No statement is made as to the accuracy of any description. All measurements and square footages are approximate. This is not intended to solicity property already listed. Nothing herein shall be construed as legal, accounting or other profesional advice outside the realm of real estate brokerage.

\$2,095,000

© 2025 Compass. This report and information provided in this report are proprietary to Compass and may not be sold, used or reprinted, in whole or part, without the prior written consent in each instance of Compass. Data is subject to revision. Sourced from Compass proprietary database. All rights reserved.

Initial

29

DOM

compass.com

3.5

Baths